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1.

Does the following represent a direct or an inverse variation?
X| 3 L5 | -0375 12
y|-07|-14| 56 |-0175

Decide whether the data show inverse variation. If they do, find the missing value.
X102 |-05] 72 | -1
y|10 | -4 | 025 |-2

Write an inverse variation to model the data in the table.
X113 |5 (19 |10
y 13018109

The time t required to drive a certain distance varies inversely as the speed r. If it takes 4 hours to drive
the distance at 50 miles per hour, how long will it take to drive the same distance at 25 miles per hour?

If a is inversely proportional to the square of b and a is é when b is 6, find @ when b is 3.
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6.

10.

The data vary inversely. One point is (4, 1.4). Which point satisfies this same equation?

[A] (5,15) [B] (6,21) [C] (3,12) [D] (112,5)

Which set of data models an inverse variation?

[A] X, =28 y,=42  [B] §=4; %=4 [C] X, =37, y,=6 [D] Xy, =4 Xy, =4
X, =56, y, =84 : ? X,=51; y,=74

Compare the quantity in Column A with the quantity in Column B.

Xy =k

Column A Column B

X y

[A] The quantity in Column A is greater. [B] The quantity in Column B is greater.

[C] The two quantities are equal.

[D] The relationship cannot be determined on the basis of the information supplied.

Which equation is an inverse variation?

[A] y=25xX [B] x=25y [C] % =25 [D] —=25 [E] xy=25

< | x<

The speed of a gear varies inversely with the number of teeth. Gear A has 40 teeth and a speed of 6000
rpm (revolutions per minute). If gear B meshes with gear A and has 25 teeth, how fast will gear B turn,
in rpm?
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[1] inverse variation

2] 8

[3] Xy=90

[4] 8 hr

[5] B

[6] D

[71 D

[8] D

[9] E

[10] 9600 rpm




